Phenotype Data Analysis Plots
PhenoData day range = 10 - 46
Analysis cutoff day = 46
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LfA: avg vs. d at each age group
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LfA: model est vs obsOv@Q50
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DeltaTypeAbbr=GrpByAge
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LfA: sfDem
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NdD: avg vs. d at each age group

age=15 age=20 age=25
6.50 A o avg |17 —4— avg 1 —4— avg
6.45 - |
10 A
6.40 - I
10 1
6.35 - 91
6.30 g -
8_
6.25 -
7_
6.20 6
36 38 40 42 44 30.0 325 35.0 37.5 40.0 425 450 20 25 30 35 40 45
d d d
age=30 age=35 age=40
151 14 -
14 —— avg —+— avg —+— avg
14 -
13 1
12 13 4
12 - 121
10 A
11 - 11 -
10 A
8 1 10 1
T T T T T 9 T T T T T T T T T T T T
25 30 35 40 45 30.0 325 35.0 375 40.0 425 450 36 38 40 42 44
d d d




NdD: model est vs obsOv@Q50
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60
40
20 A
O N S e —
_20 .
—4— pcrDelta_avg
-40 1 pcrDeltaAdj avg
15 20 25 30 35 40

P10AE NdD: D_15d NdD
DeltaTypeAbbr=GrpByDay

100 4 —+— pcrDelta_avg |
pcrDeltaAdj avg
80
60
40 A
20 A
0 B e e
20 25 30 35 40 45

DeltaTypeAbbr=WeiAvgByD

100 4 —+— pcrDelta_avg
pcrDeltaAdj_avg
80 A
60 -
40 1
20 A
O e
20 25 30 35 40 45
d



DeltaTypeAbbr=GrpByAge

—4— pcrDelta_avg

pcrDeltaAdj_avg

15

20 25 30 35

40

P10AE NdD: D_Q50 NdD
DeltaTypeAbbr=GrpByDay

20 A

-20 A

-40

—4— pcrDelta_avg
pcrDeltaAdj_avg

20 25 30 35 40

45

DeltaTypeAbbr=WeiAvgByD

—4— pcrDelta_avg

20 A )
pcrDeltaAdj_avg
0 [ S A S S —"_ S TS TSN ..
-20 A
-40 -
20 25 30 35 40 45
d




125 ~

100 ~

DeltaTypeAbbr=GrpByAge

75 1

50 A

25 A

—4— pcrDelta_avg
pcrDeltaAdj_avg

15 20 25 30 35

P10AE NdD: D_Est NdD
DeltaTypeAbbr=GrpByDay

150 A

100 ~

50 A

\ —4— pcrDelta_avg
l pcrDeltaAdj avg

DeltaTypeAbbr=WeiAvgByD

150 - —4— pcrDelta_avg
pcrDeltaAdj avg
100 A
50 -
O T N S N — -
20 25 30 35 40 45




NdD: sfDem

0.0 T T T T T T

10 15 20 25 30 35






dStH: avg vs. d
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dStH: obsAvg vs obsOv@Q50

®
3.0
®
2.5 A
®
o
2.0 ®
1.5
15 20 25 30 35 40 45




dStH: D_5d_StH
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FrV: FrO1 vs FrO5 at each truss
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FrV trend at each age
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FrV: model Est vs obsFrV at Q90

— (50
80 1 FrO1_est
® FrO5_est ®
60 -
¢
40 A
[
20 A
16 18 20 22 24 26 28 30

age




FrV: obsFrV vs obsFrV@Q90
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FrV: D_Ts_FrV
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P10AE FrV: D_Ts_FrV
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FrV: D_Q50_FrV
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P10OAE FrV: D_Q50_FrV
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P10AE FrV: D_Est_FrV
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